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DOES VALVULOARTERIAL IMPEDANCE IMPACT PROGNOSIS AFTER SURGERY FOR SEVERE AORTIC STENOSIS IN THE ELDERLY?

M. Katayama, M.Q. Najib, P. Marella, E.M. McMahon, M. Belohlavek, H.P. Chaliki, 
Mayo Clinic, Scottsdale, AZ, USA
Background:  Valvuloarterial impedance (Zva) was introduced as a prognostic measure in patients with aortic stenosis (AS). However, it is unclear whether Zva has a prognostic impact on survival after aortic valve replacement (AVR) in patients with preserved ejection fraction (EF) and severe AS.

Methods: We retrospectively reviewed medical records of 929 consecutive patients who underwent AVR. We selected 169 elderly patients (age > 65 yrs) who had AVR secondary to severe AS (mean gradient ≥ 40 mmHg; AVA ≤ 1 cm2; peak velocity ≥ 4 m/sec). Patients with EF < 50%, greater than moderate aortic regurgitation, prior heart surgery, concomitant mitral or tricuspid valve surgery were excluded. Zva ((systolic blood pressure + mean arterial gradient) / stroke volume index) was calculated and the patients were divided into 3 groups; Low Zva, Zva ≤ 3.5 (n = 30), Moderate Zva, 3.5 < Zva < 4.5 (n = 66), High Zva, Zva ≥ 4.5 (n = 73). Post-operative survival curves were calculated according to Kaplan-Meier method and comparisons were made with the log-rank test. 

Results: Age (77 ± 6 yrs, 76 ± 6 yrs, 76 ± 6 yrs; p = 0.79), prevalence of hypertension (70%, 77%, 75%; p = 0.77), prevalence of symptoms (33%, 23%, 26%; p=0.55), EF (65 ± 6%, 65 ± 7%, 65 ± 7%; p = 0.78) were not different between the groups. At 5 years, survival was not different between the groups (64% for Low Zva, 74% for Moderate Zva, 81% for High Zva; p = 0.42) (Figure)

Conclusion: Our study findings suggest that preoperative Zva does not have prognostic impact on post operative survival in elderly severe AS patients with preserved EF. Larger studies are needed to confirm our findings.
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